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(John William Strutt Rayleigh, 1842 ~1919 )
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Rayleigh’s Law







Simple Polarizing(2+0] & &)
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[W.D.-&t= Hdll
Working Distance
e Samplel =& (focus)=2 HF=1) U=
Revolving Nosepice 2t 0= dl XD}

= 220 A Sample(Cover glassE OI
2ot H=ad A2 BR20U = cover

glass )X HelE Jt=2!1C}.
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Nuwmerical Aperture
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S el &EO] JII0] /s M, 1 ¢ &8s & &<
Z QIAI0] Jitset zAQ9 2HAH0|H, N.AJE 2 6+2,
2 Folss €= &= QUL

=olls 2| Al

e =0.61 % A /N.A. (Reyleigh fomula)

A AIZ2TEOINH JIAIZES HR0= et OoZ
0.55um U&= =L,

exX.
UMPLFL100x(N.A.=0.95), A=0.55um
e =0.61+0.55um/0.95=0.35um
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| X0l CH=2 8l X2 samplet

Of HElE HITAAHAT &€H H2NH A= A0 SHEHH L0l
Ct. Olde €& "YHIYE =H A T (focal depth)ctd ZSHCE.
OI2to] &= st JHIHCIO et =&8E YU== =20 X0 U
Ct.

S, =& AT E HAGH)| oA = Lt O Z Berek 2 &2
A0l AP E O] Xl 22 QUCEH

TEHATO Al - SOHREO AL (Berekol Al)

A=(w *250,000)/(NA. M)+ N/ (2N.A2)

o =2 2ois 0.0014(&s 2E01 0.5 & &BR)
M:SEHE (HSE X » oA XEHE )

ex. UMPLFL100*, WH10%;

A =350/(0.95%1000)+0.275/0.9=0.35+0.3=0.67n
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